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 A 5 
 A 9 3 2 
 A 8 5 
 J 7 5 2 

 K 8 4  Q J 9 7 5 2 
 10 8 6  K 
 K 7 6 3  Q J 2 
 A 8 4  K Q 3 

 10 3 
 Q J 7 5 4 
 10 9 4 
 10 9 6 
 

HCP  Makeable contracts 
         NT 
 13   N - - 1 - 1 

10  14  S - - 1 - 1 
 3   E - 2 - 4 - 
    W - 2 - 4 - 

 
 
 
 

Board 1: Dealer North: Love all 

West North East South 
 1NT 2 Pass 
3 Pass 4 All Pass 
 
East’s 2 overcall of the 1NT opener shows a hand with 
opening values 11-15 hcps and 5+ spades. 
West’s 10 hcps and 3-card spade support make it worth 
an invitational raise to 3. East with 14 hcps, 6 spades 
and a singleton heart can now bid the game. 
 
When South leads Q North must overtake with A as 
he knows that East must hold K. Despite seeing East’s 
singleton K appear, North should opt for a passive 2 
return because opening a second side suit is more likely 
to benefit declarer than the defence. 
 
On this hand, declarer clears trumps and loses only two 
more tricks to North’s A and A. Contract made. 
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 10 8 5 
 Q 10 5 4 3 
 Q 9 6 2 
 4 

 J 9 6  A K Q 4 
 6  A 8 2 
 10 3  J 8 5 4 
 K J 10 8 7 5 2  6 3 

 7 3 2 
 K J 9 7 
 A K 7 
 A Q 9 
 

HCP  Makeable contracts 
         NT 
 4   N - - 3 - - 

5  14  S - - 3 - - 
 17   E 4 - - 1 - 
    W 4 - - 1 - 

 
 
 
 

Board 2: Dealer East: NS vulnerable 

West North East South 
  1NT Dbl 
2 All Pass 
 
South’s double of the 1NT opener shows a balanced hand 
with 16-18 hcps. 
West’s 2 is a weak takeout showing 5+ clubs but with 
few hcps. With North having only 4 hcps that may well be 
the end of the auction. 
 
North’s probable lead is 4. Declarer can take the trick 
with A and then try a club finesse. When this succeeds, 
he can return via A to repeat the finesse. 
 
Ten tricks can be made, losing only A and AK. If South 
does not take A on the second round of trumps, eleven 
tricks can be made by discarding a diamond on dummy’s 
winning spades. 
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 6 5 
 J 7 
 Q J 10 4 3 
 A 10 7 3 

 K Q J 10 9 3  7 
 K 10 9  Q 5 4 3 
 K 8 5  9 7 
 Q  K J 9 8 6 5 

 A 8 4 2 
 A 8 6 2 
 A 6 2 
 4 2 
 

HCP  Makeable contracts 
         NT 
 8   N - 2 - - - 

14  6  S - 2 - - - 
 12   E 1 - 2 1 - 
    W 1 - 2 1 - 

 
 
 
 

Board 3: Dealer South: EW vulnerable 

West North East South 
   1NT 
2 All Pass 
 
West’s 2 overcall of the 1NT opener shows a hand with 
opening values 11-15 hcps and 5+ spades. East should 
pass and not make any attempt to “rescue” partner. 
 
When North leads Q South must overtake with A as 
he knows West must hold K, and then return 8 to 
prevent dummy ruffing diamonds. When declarer leads 
Q North should suspect that it is a singleton, so he 
should win A and then continue with diamonds. 
 
Unfortunately for declarer there is no entry to dummy to 
cash club tricks, but he will lose only one trick in hearts to 
just make the contract. BF
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 K J 8 
 7 
 K Q 10 7 6 5 
 A 8 3 

 Q 10 7 5  9 6 4 3 
 A J 4 3  K 6 5 2 
 A 4 2  J 8 
 K 6  Q 7 4 

 A 2 
 Q 10 9 8 
 9 3 
 J 10 9 5 2 
 

HCP  Makeable contracts 
         NT 
 13   N 3 3 - - 2 

14  6  S 3 3 - - 2 
 7   E - - 1 1 - 
    W - - 1 1 - 

 
 
 
 

Board 4: Dealer West: All vulnerable 

West North East South 
1NT 2 All Pass 
 
North’s 2 overcall of the 1NT opener shows a hand with 
opening values 11-15 hcps and 5+ diamonds. 
 
East does not have a good lead, 2 is probably the best 
choice. When East sees dummy’s hearts, he can work out 
that partner probably has four hearts headed by K and 
that declarer has a singleton. If declarer plays dummy’s 
Q West should play A, otherwise J, to win the trick 
and then return a passive 3. 
 
The missing honours in clubs, diamonds, and spades all 
sit well for declarer, so that an overtrick is possible. 
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 9 6 5 
 A 8 5 4 
 Q 9 8 
 A Q 3 

 Q 7  K 10 3 
 K 9 7  Q J 10 
 10 6 3 2  A K J 
 J 8 7 4  K 10 9 5 

 A J 8 4 2 
 6 3 2 
 7 5 4 
 6 2 
 

HCP  Makeable contracts 
         NT 
 12   N - - - - - 

6  17  S - - - - - 
 5   E 4 3 1 1 - 
    W 4 3 2 - 1 

 
 
 
 

Board 5: Dealer North: NS vulnerable 

West North East South 
 1NT Dbl 2 
Dbl All Pass 
 
East’s double of the 1NT opener shows a balanced hand 
with 16-18 hcps. 
South’s 2 is a weak takeout showing 5+ spades but with 
few hcps. West’s double is for penalties suggesting that 
E/W may not be able to make a game themselves but 
there is a good chance of defeating 2. 
 
West’s best lead looks to be 4 promising partner an 
honour in clubs. Declarer has nothing to lose by playing 
Q to try the finesse but loses to East’s K. East should 
now lead A followed by 10; he is asking partner to 
lead diamonds back through North’s Q. 
 
The best outcome for declarer is four spade tricks and 
two outside aces for two down vulnerable, -500. 
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 A 10 9 7 
 4 
 10 7 6 4 3 
 K J 8 

 8 4 3 2  K Q 6 
 K 9 8 7  10 6 
 2  K Q 8 5 
 Q 10 9 5  A 7 6 3 

 J 5 
 A Q J 5 3 2 
 A J 9 
 4 2 
 

HCP  Makeable contracts 
         NT 
 8   N - 3 2 1 1 

5  14  S - 2 2 - - 
 13   E 1 - - - - 
    W 1 - - - - 

 
 
 
 

Board 6: Dealer East: EW vulnerable 

West North East South 
  1NT 2 
All Pass 
 
South’s 2 overcall of the 1NT opener shows a hand with 
opening values 11-15 hcps and 5+ hearts. North should 
pass and not make any attempt to “rescue” partner. 
 
West will probably choose to lead his singleton 2. East’s 
Q will be taken by declarer’s A. 
There is no reason to clear trumps because there is no 
outside suit to be established. Instead declarer should 
look to other suits. The bidding suggests it is probable 
that East has A, but a finesse would work if West has 
Q, so 2 lead to dummy’s J may be good. West wins 
the trick with A, cashes K, and leads another diamond 
for West to ruff. West must lead either spades or clubs, 
so declarer can now cash dummy’s A and K, then play 
10 on which he can discard his last spade. Now declarer 
will win five of the last six tricks to make the contract. 
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 Q 7 3 
 Q 7 5 
 J 9 6 4 2 
 9 3 

 A K 8 2  10 9 4 
 K T 8  6 3 2 
 A 10  8 3 
 K 8 7 2  A Q 10 6 5 

 J 6 5 
 A J 9 4 
 K Q 7 5 
 J 4 
 

HCP  Makeable contracts 
         NT 
 5   N - 1 1 - - 

17  6  S - 1 1 - - 
 12   E 4 - - 4 2 
    W 4 - - 4 2 

 
 
 
 

Board 7: Dealer South: All vulnerable 

West North East South 
   1NT 
Dbl 2 3 All Pass 
 
South opens 1NT, 12-14HCPs, balanced. 
 
With a balanced 17HCPs, West doubles. 
 
With few HCPs, but a five-card diamond suit, North bids a 
weak take-out into diamonds. Artificial methods are 
generally not used when opponents have bid or called: 
“System off after interference”. 
 
With a good quality club suit, East takes the contract 
back. 
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 K Q 9 7 
 A J 6 
 K Q 
 Q 7 5 3 

 J 6 2  A 10 8 
 Q 5 3  9 7 4 2 
 A J 10 7  4 2 
 K J 8  10 9 6 4 

 5 4 3 
 K 10 8 
 9 8 6 5 3 
 A 2 
 

HCP  Makeable contracts 
         NT 
 17   N 1 1 1 2 1 

12  4  S 1 1 2 2 1 
 7   E - - - - - 
    W - - - - - 

 
 
 
 

Board 8: Dealer West: Love all 

West North East South 
1NT Dbl All Pass 
 
West opens 1NT, 12-14HCPs, balanced. 
 
With a balanced 17HCPs, North doubles. 
 
Neither East nor South has anything to offer. 
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 J 10 5 
 6 5 3 
 K Q J 10 
 K Q J 

 A K Q  9 8 7 6 
 Q 9 8 7  A 4 2 
 4 3 2  9 8 
 4 3 2  A 10 9 5 

 4 3 2 
 K J 10 
 A 7 6 5 
 8 7 6 
 

HCP  Makeable contracts 
         NT 
 13   N - 1 - - - 

11  8  S - 1 - - - 
 8   E 2 - 2 2 - 
    W 2 - 2 2 - 

 

Board 9: Dealer North: Love all 

West North East South 

 1NT All Pass 

Opening Lead: There is a choice of two four-
card suits. The spades are solid. A “second” of 
8 shows a suit without honours. A “fourth” of 
5 shows four or more card suit with at least 
one honour. However, the clubs have a large 
“gap” from A to 10. Perhaps un-bid major is 
the better idea. 

West takes trick with Q. Trying the K 
confirms four-card suit at East, so Playing the 
A establishes partner’s last spade. 

When West gets the lead, a heart switch is 
avoided to “protect” Q and to avoid promoting 
K. The club suit in dummy is poor, so a club 
may find a winner in partner’s hand. 

 

B2 L10 D
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 A K Q 
 Q 8 6 
 4 3 2 
 5 4 3 2 

 4 3 2  J 10 9 
 9 7 4  A 10 2 
 K 7 6 5  A Q J 10 
 K Q J  8 7 6 

 8 7 6 5 
 K J 5 3 
 9 8 
 A 10 9 
 

HCP  Makeable contracts 
         NT 
 11   N 1 - 2 2 - 
9  12  S 1 - 2 2 - 
 8   E - 1 - - - 
    W - 1 - - - 

 

Board 10: Dealer East: NS vulnerable 

West North East South 

  1NT All Pass 

Opening Lead: There is a choice of two four-
card suits. The spades are solid. A “second” of 
7 shows a suit without honours. A “fourth” of 
5 shows four or more card suit with at least 
one honour. However, the heart holding may 
promote declarer’s heart honour. Perhaps a 
spade lead is the better idea. 

The defence can find seven immediate tricks. 
On a heart lead declarer will be forced to play 
the Ace providing North as third hand plays 
high. Declarer can only take four diamond tricks 
before being forced to give the lead away. The 
defence should be ready to take a club trick, 
more heart tricks and three or four spade tricks. 
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 4 3 2 
 K J 5 
 K 7 6 5 
 8 7 6 

 A K Q  8 7 6 5 
 8 7 6  A Q 4 3 
 4 3 2  9 8 
 5 4 3 2  A 10 9 

 J 10 9 
 10 9 2 
 A Q J 10 
 K Q J 
 

HCP  Makeable contracts 
         NT 
 7   N - 1 - - - 
9  10  S - 1 - - - 
 14   E 2 - 2 2 1 
    W 2 - 2 2 1 

 

Board 11: Dealer South: EW vulnerable 

West North East South 

   1NT 

All Pass 

West has no attractive opening lead. The least 
worst is A at least honestly promising the K 
and Q.  

East should signal an even number of cards by 
playing high low. This tells West to play all 
three honours establishing East’s fourth spade. 

Looking at dummy East avoids diamonds 
because partner may have the K. Clubs are a 
fifty-fifty bet on the whereabouts of the ace. 
Hearts in dummy are quite poor, and a lead 
may find values in partner’s hand. A heart is 
probably better. 
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 A K Q 
 8 7 6 
 K 4 3 
 5 4 3 2 

 J 10 9  4 3 2 
 10 9 2  A K 5 
 A Q J 10  7 6 5 2 
 K Q J  8 7 6 

 8 7 6 5 
 Q J 4 3 
 9 8 
 A 10 9 
 

HCP  Makeable contracts 
         NT 
 12   N 1 - 2 2 - 

14  7  S 1 - 2 2 - 
 7   E - 1 - - - 
    W - 1 - - - 

 

Board 12: Dealer West: All vulnerable 

West North East South 

1NT All Pass 

North has no attractive opening lead. The least 
worst is A at least honestly promising the K 
and Q.  

East should signal an even number of cards by 
playing high low. This tells West to play all 
three honours establishing East’s fourth spade. 

East now avoids a diamond lead to protect the 
King. The clubs in dummy are weak so a club 
lead risks trapping any honours partner holds. 
The hearts in dummy are strong so a heart lead 
is unlikely to give anything away. Often it helps 
establish partner’s cards. 
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 J 10 9 
 Q 10 2 
 A J 10 3 
 K Q J 

 A K Q  8 7 6 5 
 9 8 6  A K J 3 
 Q 4 2  9 8 
 5 4 3 2  10 9 6 

 4 3 2 
 7 5 4 
 K 7 6 5 
 A 8 7 
 

HCP  Makeable contracts 
         NT 
 14   N - 1 - - - 

11  8  S - 1 - - - 
 7   E 1 - 2 2 - 
    W 1 - 2 2 - 

 

Board 13: Dealer North: NS vulnerable 

West North East South 

 1NT All Pass 

East has two four-card suits to choose from. 

The spades are solid. A “second” of 7 shows a 
suit without honours.  

The hearts have a broken sequence. Lead A. 
The Q is not in dummy. Partner expects A to 
show AKQ. If Partner has Q, they expect AKJ. 
They play Q on the A to show partner where 
it is.  

If Q is not played by West, East knows North 
has it. East switches away from hearts, in this 
case to 7.  

West can now cash three spade tricks and 
return a heart setting up three more heart 
tricks. 

B2 L10 D
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 A K Q 
 9 8 6 
 4 2 
 6 5 4 3 2 

 4 3 2  J 10 9 
 K J 7  Q 10 2 
 8 7 6 5  A J 10 3 
 K Q J  A 8 7 

 8 7 6 5 
 A 5 4 3 
 K Q 9 
 10 9 
 

HCP  Makeable contracts 
         NT 
 9   N 1 - 2 2 1 

10  12  S 1 - 2 2 1 
 9   E - 1 - - - 
    W - 1 - - - 

 

Board 14: Dealer East: EW vulnerable 

West North East South 

  1NT All Pass 

South has two four-card suits to choose from. 
The spades are solid. A “second” of 7 shows a 
suit without honours. The hearts are suitable 
for a 4th highest lead of 3. Best is probably 
the heart. 

Declarer’s plan must rely on getting the lead to 
dummy and leading a diamond, preferably 
twice. He can do this with the clubs. 

South will get the lead twice, and lead hearts 
again. It’s best to keep playing your side’s suit.  

Partner will signal for a spade when possible. 

It might be a discard showing suit preference, 
or it might discourage the red suits, usually 
with a low card when following. 
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 4 3 2 
 J 7 
 K Q J 7 3 
 4 3 2 

 8 7 6 5  A K Q 
 A 5 4 3  9 8 6 
 A 9 8  5 4 2 
 10 9  Q J 6 5 

 J 10 9 
 K Q 10 2 
 10 6 
 A K 8 7 
 

HCP  Makeable contracts 
         NT 
 7   N - 2 - - - 
8  12  S - 2 - - - 
 13   E 1 - - - - 
    W 1 - - - - 

 

Board 15: Dealer South: All vulnerable 

West North East South 

   1NT 

All Pass 

South has two four-card suits to choose from. 
The spades are solid. A “second” of 7 shows a 
suit without honours. The hearts are suitable 
for a 4th highest lead of 3. Best is probably 
the heart. 

When defenders see the long diamond suit in 
dummy, they must stop declarer winning many 
tricks. Declarer will want the defence to play 
the A early. There are no entries outside the 
diamonds in dummy. West must not play the 
A on the first round. If East signals his count 
in diamonds, West will know that the A can be 
played on the second diamond trick. Switch to 
the 7, an unbid major. 

B2 L10 D
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 A K Q 
 6 5 4 3 
 A 9 8 
 10 9 3 

 J 10 9  5 4 3 2 
 K Q 10 2  J 7 
 K Q 10  J 7 6 3 
 J 7 6  A 5 4 

 8 7 6 
 A 9 8 
 5 4 2 
 K Q 8 2 
 

HCP  Makeable contracts 
         NT 
 13   N 2 1 1 1 1 

12  6  S 2 1 1 1 1 
 9   E - - - - - 
    W - - - - - 

 

Board 16: Dealer West: Love all 

West North East South 

1NT All Pass 

North has an awkward lead. The spades are 
lovely, but short. There are four hearts but so 
poor any lead will look like a fourth highest and 
disappoint. The hand should get the lead four 
times, so at least can keep leading the hearts 
hoping for a 4:3:3:3 distribution. 5 it is. 

Partner will rise with the A and seeing a short 
suit in dummy, return a heart. When declarer 
takes the trick, partner doubts the hearts. 

Declarer also has problems. They may well try 
to get the A played, and the defence should 
hold it up. When it’s forced out, North should 
trust that spades will be led eventually, and 
lead a club hoping this helps partner by 
removing the A. 
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